Jednokierunkowe pompy seria XV-1P

STANDARD EUROPEAN PUMP
225.4 FLANGE - TAPER SHAFT

IX|1]|p|25f02 F[1]1]A]
Series X series XV
Group 1 group1
Category P unidirectional pump
Displacement 25 338
Flange 02  @25.4 STANDARD EUROPEAN right rotation
Shaft F  COO001 - Tapered 1:8 - 810 - M7x1 - key thk.2.4

IN I inlet- @30 @12 M6
Body

OUT| |  outlet-@30 @12 M6
Cover A standard

Technical data table
TYPE Displacement Max. Pressure ;d) CODE (*}g
cm3/rev P1bar | P3bar Left rotation Right rotation

XV-1P/0.9 0,91 240 280 (X 1P1601F I | AjX 1 P1602F | | A
XV-1P/1.2 1,17 250 290 (X 1P1701F I | AfX 1 P1702F | | A
XV-1P/1.7 1,56 250 290 (X 1P1801F I | AjX 1 P1802F | | A
XV-1P/2.2 2,08 250 290 X 1P2001F I I A X 1 P2002F I | A
XV-1P/2.6 2,60 250 300 X 1P2101F I | A X 1 P2102F I | A
XV-1P/3.2 3,12 250 300 X 1P2301F | | A X 1 P2302F I | A
XV-1P/3.8 3,64 250 300 X 1P2501F | | A X 1 P2502F | | A
XV-1P/4.3 4,16 250 300 (X 1P2701F | | AfX 1 P2702F | | A
XV-1P/4.9 4,94 250 300 (X 1P2901F I | AjX 1 P2902F | | A
XV-1P/5.9 5,85 250 300 (X 1P3101F I | AjX 1P3102F | | A
XV-1P/6.5 6,50 250 300 (X 1P3201F I | AjX 1 P3202F | | A
XV-1P/7.8 7,54 220 260 (X 1P3401F | | A X 1 P3402F | | A
XV-1P/9.8 9,88 190 230 X 1P3601F I | A X 1P3602F I | A

P1) Max. working pressure - P3) Max. peak pressure
For heavy-duty applications, it isrecommended to check the admissible torque of the shaft

7
i

Dimensions table

TYPE Weight A B C D E F D E F ‘ ‘ ‘
kg mm mm mm IN ouT o ©
o
XV-1P/0.9 0,950 78,1 | 37,3 | 66,1 | @12 30 M6x1 | @12 30 M6x1 o /\J\
XV-1P/1.2 0,970 79,0 | 37,8 | 67,0 | @12 30 M6x1 | @12 30 M6x1 < D D Ow
XV-1P/1.7 1,010 80,5 | 385 | 68,5 | @12 30 M6x1 | @12 30 M6x1
XV-1P/2.2 1,030 82,5 | 39,5 | 70,5 | @12 30 | M6x1 | @12 30 | M6x1
XV-1P/2.6 1,060 84,5 | 405 | 72,5 | 912 30 M6x1 | @12 30 M6x1
XV-1P/3.2 1,090 86,5 | 415 | 745 | 912 30 M6x1 | @12 30 M6x1
XV-1P/3.8 | 1,120 | 88,5 | 425 | 76,5 | @12 | 30 | M6xl | @12 | 30 | M6xl T
XV-1P/4.3 1,170 90,5 | 435 | 78,5 | @12 30 M6x1 | @912 30 M6x1
XV-1P/4.9 1,200 93,5 | 450 | 81,5 | @12 30 M6x1 | @912 30 M6x1 9.925 8.45
XV-1P/5.9 1,260 97,0 | 46,8 | 85,0 | @12 30 M6x1 | 912 30 M6x1
XV-1P/6.5 1,300 98,5 | 48,0 | 86,5 | @12 30 M6x1 | 912 30 M6x1
XV-1P/7.8 1,360 103,5| 50,0 | 91,5 | @12 30 M6x1 | @12 30 M6x1 g
XV-1P/9.8 1,500 112,5| 54,5 | 100,5| @12 30 M6x1 | @12 30 M6x1 :. N ©
© o NG
8
26/08/04 X1P2502FIIAdft
T.1 =24.5+29.4 [Nm] - screw tightening torque M8 T.3 =11.5 [Nm] - torque wrench setting 11
T.2 = 43 [Nm] - admissible shaft torque (N.B. When choosing a shaft, always check the admissible torque).
Vivoil Oleodinamica Vivolo s.r.l. - Sole Shareholder Company - via Leone Ginzburg 2-4 40054 Budrio (BO) Italy tel: +39 051 803689 fax: +39 051 800061
XP101 www.vivoil.com - english 30/06/2008



Table of variations

/U)l’ ]

7§
|

225.4 FLANGE ' [ ‘/
225.4 FLANGE Shaft Cover
Left rotation ‘ Right rotation Left rotation Right rotation
COO001 - Tapered CFO002 - Milled shank
T.2=43 [Nm T.2=13.8 [Nm
02 <11:8 kol [ ] F [ ] D
gl 2 24 o ° 5=
g 3 i3
| i
5.1 T 85 3 45)/ )65
14,4 )
[ SCF04 - Splined SCFO02 - Splined
T.2=22.6 [Nm] T.2=42.8 [Nm]
04 m=16 Z=6 = J m=0,75 Z=15 L
DIN 5482 - 12x9 i
s
45 175 4,5 17,5
[ SCFO1 - Splined SCFO3 - Splined
T.2=42.8 [Nm] T.2=42.8[Nm] 135 o
06 m=0,75 Z=15 Q m=0,75 Z=15 R g
© ® %
iy |
© ©)
75 1,5 ] 25 ouT
08 ol 135 135 % | % 135 135 %
® g w P
© © F o © ® P
— ] @)=:(@)
IN ouT | out IN
Displacement Standard bodies
TYPE CODE Displacementcm3/rev Standard threads
XV-1P/0.9 16 0.9 -1 |\B-B|J-J | B-Z2|Z2-2|G-F
XV-1P/1.2 17 1.2 -1 |B-B|J-J|B-Z2|Z2-Z|G-F
XV-1P/1.7 18 1.7 -1 |B-B|J-J|B-Z2|Z2-Z|G-F
XV-1P/2.2 20 2.2 -1 |B-B|J-J|B-Z2|Z2-Z|G-F
XV-1P/2.6 21 2.6 -1 |B-B|J-J|B-Z2|Z2-Z|G-F
XV-1P/3.2 23 3.2 -1 |\B-B|J-J | B-Z2|Z2-2|G-F
XV-1P/3.8 25 3.8 -1 |\B-B|J-J | B-Z2|Z2-2|G-F
XV-1P/4.3 27 4.3 -1 |\B-B|J-J | B-Z2|Z2-2|G-F
XV-1P/4.9 29 4.9 -1 |\B-B|J-J | B-Z2|Z2-2|G-F External drainage
XV-1P/5.9 31 5.9 -1 |B-B|J-J|B-Z2|Z2-Z|G-F
XV-1P/6.5 32 6.5 -1 |B-B|J-J|B-Z2|Z2-Z|G-F
XV-1P/7.8 34 7.8 -1 |B-B|J-J|B-Z2|Z2-Z|G-F
XV-1P/9.8 36 9.8 -1 |B-B|J-J |B-Z2|Z2-Z|G-F
Table showing standard flange and thread
combinations available in stock
Body (threads/flanges)
oMe
1/4 BSP 3/8 BSP - 1/2BSP M14x1.5 - 1 M18x1,5 18 UNF-2B 16 SSF_ZB
A B | c D :ki E F
Iy 5x0.8 ~ Méx1 o~ Méx1
. 5 W & B 5, Closed
H || e J Z
T@# 1 Body
@26 P | 330 @30
Vivoil Oleodinamica Vivolo s.r.l. - Sole Shareholder Company - via Leone Ginzburg 2-4 40054 Budrio (BO) Italy tel: +39 051 803689 fax: +39 051 800061
XP101 www.vivoil.com - english 30/06/2008




unidirectional pump - series XV

STANDARD EUROPEAN PUMP
225.4 FLANGE - TAPER SHAFT

IX|1|P|25/02|F|B|B|A|

Series X series XV
Group 1 group1
Category P unidirectional pump
Displacement 25 338
Flange 02  (325.4 STANDARD EUROPEAN right rotation
Shaft F  CO001 - Tapered 1:8 - 10 - M7x1 - key thk.2.4
IN B inlet-3/8" GAS
Body
OUT| B  outlet-3/8" GAS
Cover A standard
Technical data table
TYPE Displacement Max. Pressure ;d) CODE (*}g
cm3/rev P1bar | P3bar Left rotation Right rotation
XV-1P/0.9 0,91 240 280 (X 1P1601FBB A|X 1P1602F BB A
XV-1P/1.2 1,17 250 290 X 1P1701FBB AIX 1P1702F BB A
XV-1P/1.7 1,56 250 290 (X 1 P1801FBB AIX 1P1802F BB A
XV-1P/2.2 2,08 250 290 X 1P2001FBBAJX 1P2002F BB A
XV-1P/2.6 2,60 250 300 X 1P2101FBBAJX 1P2102FBB A 5.5
XV-1P/3.2 3,12 250 300 X 1P2301FBBAJX 1P2302FBB A :$
XV-1P/3.8 3,64 250 300 X 1P2501FBBAJX 1P2502F BB A < @10
XV-1P/4.3 4,16 250 300 X 1P2701FBBA|X 1P2702FBB A o M7 x1
XV-1P/4.9 4,94 250 300 X 1P2901FBBAJX 1P2902F BB A ﬁ
XV-1P/5.9 5,85 250 300 X 1P3101FBBA|X 1P3102FBB A P
XV-1P/6.5 6,50 250 300 X 1P3201FBBAJX 1P3202FBB A i
XV-1P/7.8 7,54 220 260 |[X 1P3401FBBAJX 1P3402FBB A 0,020
T3 @ 25417 (25)
XV-1P/9.8 9,88 190 230 X 1P3601FBBAJX 1P3602FBB A
P1) Max. working pressure - P3) Max. peak pressure < 1:8\ e
For heavy-duty applications, it isrecommended to check the admissible torque of the shaft T2 xﬁg
o~ Sall-)
Dimensions table M % S
TYPE Weight A B C D D ‘ ‘ H ‘ ‘
kg mm mm mm IN out m @ ©
XV-1P/0.9 0,950 78,1 37,3 66,1 3/8" BSPP 3/8" BSPP Vi
XV-1P/1.2 0,970 79,0 37,8 67,0 3/8" BSPP 3/8" BSPP < © @ D£
XV-1P/1.7 1,010 80,5 38,5 68,5 3/8" BSPP 3/8" BSPP
XV-1P/2.2 1,030 82,5 39,5 70,5 3/8" BSPP 3/8" BSPP =
XV-1P/2.6 1,060 84,5 40,5 72,5 3/8" BSPP 3/8" BSPP
XV-1P/3.2 1,090 86,5 41,5 74,5 3/8" BSPP 3/8" BSPP
XV-1P/3.8 1,120 885 | 42,5 76,5 3/8" BSPP 3/8" BSPP TA
XV-1P/4.3 1,170 90,5 43,5 78,5 3/8" BSPP 3/8" BSPP
XV-1P/4.9 1,200 93,5 45,0 81,5 3/8" BSPP 3/8" BSPP 9,925 8,45
XV-1P/5.9 1,260 97,0 46,8 85,0 3/8" BSPP 3/8" BSPP ~
XV-1P/6.5 1,300 98,5 48,0 86,5 3/8" BSPP 3/8" BSPP o @Q
XV-1P/7.8 1,360 103,5 50,0 91,5 3/8" BSPP 3/8" BSPP g )
XV-1P/9.8 1,500 112,5 54,5 100,5 3/8" BSPP 3/8" BSPP :— | o
“ o L
150602
Q
26/08/04 X1PZ502FBBA.dFt
T.1 =24.5+29.4 [Nm] - screw tightening torque M8 T.3 =11.5 [Nm] - torque wrench setting 11
T.2 = 43 [Nm] - admissible shaft torque (N.B. When choosing a shaft, always check the admissible torque).
Vivoil Oleodinamica Vivolo s.r.l. - Sole Shareholder Company - via Leone Ginzburg 2-4 40054 Budrio (BO) Italy tel: +39 051 803689 fax: +39 051 800061
XP105 www.vivoil.com - english 30/06/2008



Table of variations

/U)l’ ]

7§
|

225.4 FLANGE ' [ ‘/
225.4 FLANGE Shaft Cover
Left rotation ‘ Right rotation Left rotation Right rotation
COO001 - Tapered CFO002 - Milled shank
T.2=43 [Nm T.2=13.8 [Nm
02 <11:8 kol [ ] F [ ] D
gl 2 24 o ° 5=
g 3 i3
| i
5.1 T 85 3 45)/ )65
14,4 )
[ SCF04 - Splined SCFO02 - Splined
T.2=22.6 [Nm] T.2=42.8 [Nm]
04 m=16 Z=6 = J m=0,75 Z=15 L
DIN 5482 - 12x9 i
s
45 175 4,5 17,5
[ SCFO1 - Splined SCFO3 - Splined
T.2=42.8 [Nm] T.2=42.8[Nm] 135 o
06 m=0,75 Z=15 Q m=0,75 Z=15 R g
© ® %
iy |
© ©)
75 1,5 ] 25 ouT
08 ol 135 135 % | % 135 135 %
® g w P
© © F o © ® P
— ] @)=:(@)
IN ouT | out IN
Displacement Standard bodies
TYPE CODE Displacementcm3/rev Standard threads
XV-1P/0.9 16 0.9 -1 |\B-B|J-J | B-Z2|Z2-2|G-F
XV-1P/1.2 17 1.2 -1 |B-B|J-J|B-Z2|Z2-Z|G-F
XV-1P/1.7 18 1.7 -1 |B-B|J-J|B-Z2|Z2-Z|G-F
XV-1P/2.2 20 2.2 -1 |B-B|J-J|B-Z2|Z2-Z|G-F
XV-1P/2.6 21 2.6 -1 |B-B|J-J|B-Z2|Z2-Z|G-F
XV-1P/3.2 23 3.2 -1 |\B-B|J-J | B-Z2|Z2-2|G-F
XV-1P/3.8 25 3.8 -1 |\B-B|J-J | B-Z2|Z2-2|G-F
XV-1P/4.3 27 4.3 -1 |\B-B|J-J | B-Z2|Z2-2|G-F
XV-1P/4.9 29 4.9 -1 |\B-B|J-J | B-Z2|Z2-2|G-F External drainage
XV-1P/5.9 31 5.9 -1 |B-B|J-J|B-Z2|Z2-Z|G-F
XV-1P/6.5 32 6.5 -1 |B-B|J-J|B-Z2|Z2-Z|G-F
XV-1P/7.8 34 7.8 -1 |B-B|J-J|B-Z2|Z2-Z|G-F
XV-1P/9.8 36 9.8 -1 |B-B|J-J |B-Z2|Z2-Z|G-F
Table showing standard flange and thread
combinations available in stock
Body (threads/flanges)
oMe
1/4 BSP 3/8 BSP - 1/2BSP M14x1.5 - 1 M18x1,5 18 UNF-2B 16 SSF_ZB
A B | c D :ki E F
Iy 5x0.8 ~ Méx1 o~ Méx1
. 5 W & B 5, Closed
H || e J Z
T@# 1 Body
@26 P | 330 @30
Vivoil Oleodinamica Vivolo s.r.l. - Sole Shareholder Company - via Leone Ginzburg 2-4 40054 Budrio (BO) Italy tel: +39 051 803689 fax: +39 051 800061
XP101 www.vivoil.com - english 30/06/2008




unidirectional pump - series XV

STANDARD PUMP
230 FLANGE - TAPER SHAFT

IX|1|p|25[12|G|1|1]A]
Series X series XV

Group 1 group1

Category P unidirectional pump
Displacement 25 338

Flange 12 (330 STANDARD right rotation

Shaft G  CO0002 - Tapered 1:8 - @14 - M10x1 - key thk.3
IN | inlet - @30 @12 M6
Body
OUT| |  outlet- @30 @12 M6
Cover A standard
Technical data table
TYPE Displacement Max. Pressure ;d) CODE (*}g
cm3/rev P1bar | P3bar Left rotation Right rotation
XV-1P/0.9 0,91 240 280 (X 1P1611G | | A|X 1 P1612G | | A
XV-1P/1.2 1,17 250 290 (X 1P1711G | | A|X 1P1712G | | A
XV-1P/1.7 1,56 250 290 (X 1P1811G | | A|X 1 P1812G | | A
XV-1P/2.2 2,08 250 290 X 1P2011G I | AjJX 1 P2012G | | A
XV-1P/2.6 2,60 250 300 [ X 1P2111G I | AJX 1P2112G I | A
XV-1P/3.2 3,12 250 300 X 1P2311G | | AjJX 1 P2312G | | A
XV-1P/3.8 3,64 250 300 [ X 1P2511G | | AJX 1P2512G I | A
XV-1P/4.3 4,16 250 300 (X 1P2711G | | Af|X 1P2712G | | A P 14
XV-1P/4.9 4,94 250 300 (X 1P2911G | | AjX 1P2912G | | A M 10 x 1
XV-1P/5.9 5,85 250 300 X 1P3111G I | AjX 1P3112G I | A ﬁ
XV-1P/6.5 6,50 250 300 (X 1P3211G I | A|X 1P3212G I | A }Eiﬁl
XV-1P/7.8 7,54 220 260 (X 1P3411G 1| | A X 1 P3412G | | A T3 : @ 3017 (9020
XV-1P/9.8 9,88 190 230 X 1P3611G I | A X 1 P3612G | | A x
P1) Max. working pressure - P3) Max. peak pressure <18
For heavy-duty applications, it isrecommended to check the admissible torque of the shaft T-2%j% ad R
["¢] ol
Dimensions table N @ 28
TYPE Weight A B c D E F D E F
] 1.
kg mm mm mm IN ouTt © o
XV-1P/0.9 0,950 78,1 | 37,3 | 66,1 | @12 30 M6x1 | @12 30 M6x1 @ =
XV-1P/1.2 0,970 79,0 | 37,8 | 67,0 | @12 30 M6x1 | @12 30 M6x1 <0 ) :H]) 1) ol w
XV-1P/1.7 1,010 80,5 | 385 | 68,5 | 912 30 M6x1 | @12 30 M6x1
XV-1P/2.2 1,030 82,5 | 39,5 | 70,5 | @12 30 | M6x1 | @12 30 | M6x1
XV-1P/2.6 | 1,060 | 84,5 | 40,5 | 725 | 812 | 30 |Méxl | @12 | 30 | Méxl — ) w
XV-1P/3.2 1,090 86,5 | 415 | 745 | 912 30 M6x1 | @12 30 M6x1 M
XV-1P/3.8 1,120 88,5 | 425 | 76,5 | @912 30 M6x1 | @12 30 M6x1 10,8 \ T1
XV-1P/4.3 1,170 90,5 | 435 | 78,5 | @12 30 M6x1 | @912 30 M6x1
XV-1P/4.9 | 1,200 | 935 | 450 | 81,5  ¢12 | 30 |M6éxl| @12 | 30 | M6xl 8,05 565
XV-1P/5.9 1,260 97,0 | 46,8 | 850 | @12 30 M6x1 | 912 30 M6x1
XV-1P/6.5 1,300 98,5 | 48,0 | 86,5 | @12 30 M6x1 | 912 30 M6x1
XV-1P/7.8 1,360 |103,5| 50,0 | 91,5 | @12 30 | M6x1 | @12 30 | M6x1 3
XV-1P/9.8 1,500 112,5| 54,5 | 100,5 | @12 30 M6x1 | @12 30 M6x1 Q o
® ©
o LS
26/08/04 XP25126IAdT
T.1 =24.5+29.4 [Nm] - screw tightening torque M8 T.3 = 13 [Nm] - torque wrench setting 17
T.2 =119.8 [Nm] - admissible shaft torque (N.B. When choosing a shaft, always check the admissible torque).
Vivoil Oleodinamica Vivolo s.r.l. - Sole Shareholder Company - via Leone Ginzburg 2-4 40054 Budrio (BO) Italy tel: +39 051 803689 fax: +39 051 800061
XP113 www.vivoil.com - english 30/06/2008



Table of variations i / Il l
V[
030 FLANGE - ‘. [ { [ , J)

230 FLANGE Shaft Cover
Left rotation ‘ Right rotation Left rotation Right rotation
CI001 - Parallel CO002 - Tapered
1 12 T.2= 35.5 INm] | 5| T.2=119.8[Nm] .| A
) <18, &< 3
s | 23 *fs
[ | T [ =i
85 ‘ 11,5 85‘ ; 115
‘ 11,6 ) 155
[ .23 [ CI001+HK - Parallel CO002+HK - Tapered
P 3 T.2=25.8[Nm T.2=119.8 [Nm
13 © (W\ 14 HK 14-12 g E[ ] P H21‘:-812 g *[ l O B
o . -
Bl 2 Baey LIV EES
1l
OUT 2925 85 [ 115 E‘% , 115
‘ 11‘ 8 15,5
15 16 135 a c
© ® %
iy |
© ©)
‘ ouT
17 18 z 135 135§ % 135 135 2 D
«© [ g «©
© ©) F o ©) © P
— ] D)) ©
‘ IN ouT | ouT IN
Displacement Standard bodies N
TYPE CODE Displacementcm3/rev Standard threads
XV-1P/0.9 16 0.9 -1 |\B-B|J-J | B-Z2|Z2-2|G-F
XV-1P/1.2 17 1.2 -1 |B-B|J-J | B-Z2|Z2-2|G-F
XV-1P/1.7 18 1.7 -1 |B-B|J-J | B-Z2|Z2-2|G-F
XV-1P/2.2 20 2.2 I-1 |B-B|J-J|B-Z|2-Z|G-F ]
XV-1P/2.6 21 2.6 -1 |B-B|J-J | B-Z2|Z2-2|G-F o
XV-1P/3.2 23 3.2 -1 |\B-B|J-J | B-Z2|Z2-2|G-F
XV-1P/3.8 25 3.8 -1 |\B-B|J-J | B-Z2|Z2-2|G-F
XV-1P/4.3 27 4.3 -1 |\B-B|J-J | B-Z2|Z2-2|G-F
XV-1P/4.9 29 4.9 -1 |\B-B|J-J | B-Z2|Z2-2|G-F External drainage
XV-1P/5.9 31 5.9 -1 |B-B|J-J | B-Z2|Z2-2|G-F
XV-1P/6.5 32 6.5 -1 |B-B|J-J | B-Z2|Z2-2|G-F
XV-1P/7.8 34 7.8 -1 |B-B|J-J | B-Z2|Z2-2|G-F
XV-1P/9.8 36 9.8 -1 |B-B|J-J | B-Z2|Z2-2|G-F
Table showing standard flange and thread
combinations available in stock
Body (threads/flanges)
9186
1/4 BSP 3/8 BSP - 1/2 BSP M14x1.5 - M18x1,5 18 UNF-2B 16 j::,:_zg
A B | c D :ki E F G
o 5%0.8 o M6x1 o M6x1
S S U S B B Closed
H || ° J Z
T Body
)
@26 P | @30 @30

Vivoil Oleodinamica Vivolo s.r.l. - Sole Shareholder Company - via Leone Ginzburg 2-4 40054 Budrio (BO) Italy tel: +39 051 803689 fax: +39 051 800061

XP113 www.vivoil.com - english 30/06/2008



unidirectional pump - series XV

"BH" TYPE PUMP

232 BODY-SHAPED FLANGE - MILL

'X|1|P|25/42|D|B|B|A|

Series X series XV
Group 1 group1
Category P unidirectional pump
Displacement 25 338
Flange 42 @32 BH right rotation
Shaft D  CF002 - Milled shank 210 - thk.5
IN B inlet-3/8" GAS
Body
OUT| B  outlet-3/8" GAS
Cover A standard
Technical data table
TYPE Displacement Max. Pressure ;d) CODE (*}g
cm3/rev P1bar | P3bar Left rotation Right rotation
XV-1P/0.9 0,91 240 280 (X 1P1641DBB A|X 1P1642DBB A
XV-1P/1.2 1,17 250 290 (X 1P1741DBB A|X 1P1742DBB A
XV-1P/1.7 1,56 250 290 (X 1P1841DBB A|X 1P1842DBB A
XV-1P/2.2 2,08 250 290 |[X 1 P2041DBB AJX 1P2042DBB A 88
XV-1P/2.6 2,60 250 300 |[X 1P2141DBBAJX 1P2142DBB A ""’:;
XV-1P/3.2 3,12 250 300 |[X 1P2341DBB AJX 1P2342DBB A (oZzmmy
XV-1P/3.8 3,64 250 300 |[X 1P2541DBB AJX 1P2542DBB A ) 24
XV-1P/4.3 4,16 250 300 X 1P2741DBB AJX 1P2742DBB A © @ 10 - OR28,30x1,78
XV-1P/4.9 4,94 250 300 (X 1P2941DBB AJX 1P2942DBB A 1~
XV-1P/5.9 5,85 250 300 X 1P3141DBB AJX 1P3142DBB A u; /E % g_
XV-1P/6.5 6,50 250 300 (X 1P3241DBB A|X 1P3242DBB A 0
XV-1P/7.8 7,54 220 260 |X 1P3441DBB AJX 1P3442DBB A 0,025
T.2 @ 327 (-o,oso)
XV-1P/9.8 9,88 190 230 |[X 1 P3641DBB AJX 1P3642DBB A '\\\
P1) Max. working pressure - P3) Max. peak pressure B ey
For heavy-duty applications, it isrecommended to check the admissible torque of the shaft ‘ ‘ ‘ o
Dimensions table @
TYPE Weight A B C D D 7
kg mm mm mm IN ouT <7 N e
XV-1P/0.9 0,950 77,1 36,3 65,1 3/8" BSPP 3/8" BSPP
XV-1P/1.2 0,970 78,0 36,8 66,0 3/8" BSPP 3/8" BSPP [ Il ]
XV-1P/1.7 1,010 79,5 37,5 67,5 3/8" BSPP 3/8" BSPP L;Lk P
XV-1P/2.2 1,030 81,5 38,5 69,5 3/8" BSPP 3/8" BSPP 108
XV-1P/2.6 1,060 83,5 39,5 71,5 3/8" BSPP 3/8" BSPP T1
XV-1P/3.2 1,090 85,5 40,5 73,5 3/8" BSPP 3/8" BSPP
XV-1P/3.8 1,120 87,5 41,5 75,5 3/8" BSPP 3/8" BSPP
XV-1P/4.3 1,170 89,5 42,5 77,5 3/8" BSPP 3/8" BSPP
XV-1P/4.9 1,200 92,5 44,0 80,5 3/8" BSPP 3/8" BSPP
XV-1P/5.9 1,260 96,0 45,8 84,0 3/8" BSPP 3/8" BSPP
XV-1P/6.5 1,300 97,5 47,0 85,5 3/8" BSPP 3/8" BSPP )|
XV-1P/7.8 1,360 102,5 49,0 90,5 3/8" BSPP 3/8" BSPP g
XV-1P/9.8 1,500 111,5 53,5 99,5 3/8" BSPP 3/8" BSPP
26/08/04 XP254208BAdft
T.1 =24.5+29.4 [Nm] - screw tightening torque M8
T.2 = 13.8 [Nm] - admissible shaft torque (N.B. When choosing a shaft, always check the admissible torque).
Vivoil Oleodinamica Vivolo s.r.l. - Sole Shareholder Company - via Leone Ginzburg 2-4 40054 Budrio (BO) Italy tel: +39 051 803689 fax: +39 051 800061
XP119 www.vivoil.com - english 30/06/2008




Table of variations -~ @ Il l
832 "BH" Body-Shaped FLANGE - t [ ! [ i -

232 "BH" Body-Shaped FLANGE Shaft Cover
Left rotation ‘ Right rotation Left rotation Right rotation
CF002 - Milled shank CO001 - Tapered
a1 42 T.2 :°13.8 [Nm] D <11_ST.2 =43 [Nm] E A
= 53 ’ X e 24
K w{ RS
El
s1f 1 les &
‘ ‘ 144
[ [ SCF02 - Splined SCFO04 - Splined
T.2=42.8[Nm] T.2=22.6 [Nm]
44 m=0,75 Z=15 L m=1,6 2=6 - J e
DIN 5482 - 12x8 £
~
S
55 17,5 55 17,5 B
F SCFO01 - Splined SCFO03 - Splined
T.2=42.8 [Nm] T.2=42.8[Nm] o
46 m=0,75 Z=15 b Q m=0,75 Z=15 bt = 138 E c
al a o) 9
= h=d T —
S % Al © ©
" ! ~ ouT
‘ 65 25 9| 1,5
z 135 135§ E 135 135 2 D
© [ 2] -]
© ©) & o ©) © P
— ] D)) ©
IN ouT | ouT IN
Displacement Standard bodies N
TYPE CODE Displacementcm3/rev Standard threads
XV-1P/0.9 16 0.9 -1 |B-B|J-J |B-Z2|Z2-Z|G-F
XV-1P/1.2 17 1.2 -1 |B-B|J-J|B-Z2|Z-Z|G-F
XV-1P/1.7 18 1.7 -1 |B-B|J-J|B-Z2|Z-Z|G-F
XV-1P/2.2 20 2.2 I-1 |B-B|J-J|B-Z2|Z2-Z|G-F B
XV-1P/2.6 21 2.6 -1 |B-B|J-J|B-Z2|Z-Z|G-F o
XV-1P/3.2 23 3.2 -1 |B-B|J-J |B-2Z2|Z2-Z|G-F
XV-1P/3.8 25 3.8 -1 |B-B|J-J |B-2Z2|Z2-Z|G-F
XV-1P/4.3 27 4.3 -1 |B-B|J-J |B-Z2|Z2-Z|G-F
XV-1P/4.9 29 4.9 -1 |B-B|J-J|B-Z2|Z2-Z|G-F External drainage
XV-1P/5.9 31 5.9 -1 |B-B|J-J|B-2Z2|Z2-Z|G-F
XV-1P/6.5 32 6.5 -1 |B-B|J-J|B-2Z2|Z2-Z|G-F
XV-1P/7.8 34 7.8 -1 |B-B|J-J|B-Z2|Z2-Z|G-F
XV-1P/9.8 36 9.8 -1 |B-B|J-J|B-Z2|Z2-Z|G-F
Table showing standard flange and thread
combinations available in stock
Body (threads/flanges)
9/16
1/4 BSP 3/8 BSP - 1/2 BSP M14x1.5 - M18x1,5 18 UNF-2B 16 j::,:_zg
A B | c D :ki E F G
5%0.8 Méx1

of
r%’ @26 P | @30

Closed

Body
@30

- P12

I
P12
g
S :
[

Vivoil Oleodinamica Vivolo s.r.l. - Sole Shareholder Company - via Leone Ginzburg 2-4 40054 Budrio (BO) Italy tel: +39 051 803689 fax: +39 051 800061

XP119 www.vivoil.com - english 30/06/2008



unidirectional pump - series XV

"HY" TYPE PUMP

232 BODY-SHAPED FLANGE - MILL

X/ 1|P|25/52|D|B|B|A|

Series X series XV
Group 1 group1
Category P unidirectional pump
Displacement 25 338
Flange 52 @32 HY right rotation
Shaft D  CF002 - Milled shank @10 - thk.5
IN B inlet-3/8" GAS
Body
OUT| B  outlet-3/8" GAS
Cover A standard
Technical data table
TYPE Displacement Max. Pressure ;d) CODE (*}g
cm3/rev P1bar | P3bar Left rotation Right rotation
XV-1P/0.9 0,91 240 280 |X 1P1651DBB A|X 1P1652DBB A
XV-1P/1.2 1,17 250 290 |[X 1P1751DBB A|X 1P1752DBB A
XV-1P/1.7 1,56 250 290 |X 1 P1851DBB A|X 1P1852DBB A
XV-1P/2.2 2,08 250 290 (X 1P2051DBB AJX 1P2052DBB A
XV-1P/2.6 2,60 250 300 X 1P2151DBB AJX 1P2152DBB A
XV-1P/3.2 3,12 250 300 X 1P2351DBB AfX 1P2352DBB A [y
XV-1P/3.8 3,64 250 300 X 1P2551DBB AJX 1P2552DBB A o 24
XV-1P/4.3 4,16 250 300 |[X 1P2751DBB A|X 1P2752DBB A © @ 10 -y OR 28,30x 1,78
XV-1P/4.9 4,94 250 300 |[X 1P2951DBB A|X 1P2952DBB A L 11y
XV-1P/5.9 5,85 250 300 |[X 1P3151DBBA|X 1P3152DBB A o /@ %@_
XV-1P/6.5 6,50 250 300 |[X 1P3251DBBA|X 1P3252DBB A 0| «
XV-1P/7.8 7,54 220 260 (X 1P3451DBB AJX 1P3452DBB A T2 @ 3247 (2w)
. -0,050
XV-1P/9.8 9,88 190 230 X 1P3651DBBAJX 1P3652DBB A ~
P1) Max. working pressure - P3) Max. peak pressure i =
For heavy-duty applications, it isrecommended to check the admissible torque of the shaft ‘ ‘ ‘ o
Dimensions table @
TYPE Weight A B c D D i
O
kg mm mm mm IN out < \@ 01
XV-1P/0.9 0,950 77,1 36,3 65,1 3/8" BSPP 3/8" BSPP
XV-1P/1.2 0,970 78,0 36,8 66,0 3/8" BSPP 3/8" BSPP k [ I ]
XV-1P/1.7 1,010 79,5 37,5 67,5 3/8" BSPP 3/8" BSPP A
XV-1P/2.2 1,030 81,5 38,5 69,5 3/8" BSPP 3/8" BSPP 108
XV-1P/2.6 1,060 83,5 39,5 71,5 3/8" BSPP 3/8" BSPP TA1
XV-1P/3.2 1,090 85,5 40,5 73,5 3/8" BSPP 3/8" BSPP
XV-1P/3.8 1,120 87,5 41,5 75,5 3/8" BSPP 3/8" BSPP
XV-1P/4.3 1,170 89,5 42,5 77,5 3/8" BSPP 3/8" BSPP
XV-1P/4.9 1,200 92,5 44,0 80,5 3/8" BSPP 3/8" BSPP
XV-1P/5.9 1,260 96,0 45,8 84,0 3/8" BSPP 3/8" BSPP
XV-1P/6.5 1,300 97,5 47,0 85,5 3/8" BSPP 3/8" BSPP
XV-1P/7.8 1,360 102,5 49,0 90,5 3/8" BSPP 3/8" BSPP
XV-1P/9.8 1,500 1115 53,5 99,5 3/8" BSPP 3/8" BSPP

T.1 =24.5+29.4 [Nm] - screw tightening torque M8
T.2 = 13.8 [Nm] - admissible shaft torque (N.B. When choosing a shaft, always check the admissible torque).

26/08/04

X1P255208BAdft

Vivoil Oleodinamica Vivolo s.r.l. - Sole Shareholder Company - via Leone Ginzburg 2-4 40054 Budrio (BO) Italy tel: +39 051 803689 fax: +39 051 800061

XP140

www.vivoil.com - english

30/06/2008




Table of variations ‘/u | | l
~ —
632 "HY" Body-Shaped FLANGE ‘ " [ \ / i

232 "HY" Body-Shaped FLANGE Shaft Cover
Left rotation ‘ Right rotation Left rotation Right rotation
CF002 - Milled shank CO001 - Tapered
51 52 T.2 :°13.8 [Nm] D <11_ST.2 =43 [Nm] E A
= 53 ’ X e 24
T“jﬁ' = 8|
]
6]] 1 les @
‘ ‘ 144
[ [ SCFO02 - Splined SCF04 - Splined
T.2=42.8[Nm] T.2=226[Nm]
54 m=0,75 Z=15 L m=1,6 2=6 - J e
DIN 5482 - 12x8 £
~
S
55 17,5 55 17,5 B
[ SCFO1 - Splined SCFO3 - Splined
T.2=42.8 [Nm] T.2=42.8[Nm] o
56 m=0,75 Z=15 b= Q m=0,75 Z=15 b= B 122 8 c
al a o) 9
§, §, © . ©) —
g - . ouT
‘ 65 25 9| @15
58 ol 135 135 % | % 135 135 % D
® g w o
© ©) F o ©) © P
— ] D)) ©
‘ IN ouT | out IN
Displacement Standard bodies N
TYPE CODE Displacementcm3/rev Standard threads
XV-1P/0.9 16 0.9 -1 |\B-B|J-J | B-Z2|Z2-2|G-F
XV-1P/1.2 17 1.2 -1 |B-B|J-J | B-Z2|Z2-2|G-F
XV-1P/1.7 18 1.7 -1 |B-B|J-J | B-Z2|Z2-2|G-F
XV-1P/2.2 20 2.2 I-1 |B-B|J-J|B-Z|2-Z|G-F ]
XV-1P/2.6 21 2.6 -1 |B-B|J-J | B-Z2|Z2-2|G-F o
XV-1P/3.2 23 3.2 -1 |\B-B|J-J | B-Z2|Z2-2|G-F
XV-1P/3.8 25 3.8 -1 |\B-B|J-J | B-Z2|Z2-2|G-F
XV-1P/4.3 27 4.3 -1 |\B-B|J-J | B-Z2|Z2-2|G-F
XV-1P/4.9 29 4.9 -1 |\B-B|J-J | B-Z2|Z2-2|G-F External drainage
XV-1P/5.9 31 5.9 -1 |B-B|J-J | B-Z2|Z2-2|G-F
XV-1P/6.5 32 6.5 -1 |B-B|J-J | B-Z2|Z2-2|G-F
XV-1P/7.8 34 7.8 -1 |B-B|J-J | B-Z2|Z2-2|G-F
XV-1P/9.8 36 9.8 -1 |B-B|J-J | B-Z2|Z2-2|G-F
Table showing standard flange and thread
combinations available in stock
Body (threads/flanges)
9186 3/4
1/4 BSP 3/8 BSP - 1/2 BSP M14x1.5 - M18x1,5 18 UNF-2B 16 UNF-2B
A B | c D :ki E F G
5%0.8 M6x1

of
r%’ @26 P | @30

Closed

Body
@30

- P12

I
P12
g
S :
[

Vivoil Oleodinamica Vivolo s.r.l. - Sole Shareholder Company - via Leone Ginzburg 2-4 40054 Budrio (BO) Italy tel: +39 051 803689 fax: +39 051 800061

XP140 www.vivoil.com - english 30/06/2008



unidirectional pump - series XV

STANDARD GERMAN "BH" TYPE P
232 BODY-SHAPED FLANGE - MILL

IX|1|p|25/32|c|B|B|A|

Series X series XV

Group 1 group1

Category P unidirectional pump

Displacement 25 338

Flange 32 (32 BH GERMAN STARDARDIZED right rotation

Shaft C  CF001 - Milled shank 10 - thk.5 ("BH" Standard German)

IN B inlet-3/8" GAS
Body
OUT| B  outlet-3/8" GAS
Cover A standard
XP161
Technical data table
TYPE Displacement Max. Pressure ;d) CODE (*}g
cm3/rev P1bar | P3bar Left rotation Right rotation

XV-1P/0.9 0,91 240 280 (X 1P1631CBB A|X 1P1632CBB A

XV-1P/1.2 1,17 250 290 (X 1P1731CBB A|X 1P1732CBB A

XV-1P/1.7 1,56 250 290 (X 1P1831CBB A|X 1P1832CBB A

XV-1P/2.2 2,08 250 290 X 1P2031CBBAJX 1P2032CBB A

XV-1P/2.6 2,60 250 300 X 1P2131CBBAJX 1P2132CBB A

XV-1P/3.2 3,12 250 300 X 1P2331CBB AJX 1P2332CBB A

XV-1P/3.8 3,64 250 300 X 1P2531CBB AJX 1P2532CBB A

XV-1P/4.3 4,16 250 300 (X 1P2731CBBA|X 1P2732CBB A

XV-1P/4.9 4,94 250 300 (X 1P2931CBBA|X 1P2932CBB A

XV-1P/5.9 5,85 250 300 X 1P3131CBBA|X 1P3132CBBA

XV-1P/6.5 6,50 250 300 (X 1P3231CBBA|X 1P3232CBBA

XV-1P/7.8 7,54 220 260 (X 1P3431CBB AJX 1P3432CBB A | oo

XV-1P/9.8 9,88 190 230 |[X 1P3631CBBA|X 1P332CBB A d g
P1) Max. working pressure - P3) Max. peak pressure 7 ( L
For heavy-duty applications, it isrecommended to check the admissible torque of the shaft . 3

Dimensions table @ 323
TYPE Weight A B c D D ~
kg mm mm mm IN out o ‘

XV-1P/0.9 0,950 77,1 36,3 65,1 3/8" BSPP 3/8" BSPP

XV-1P/1.2 0,970 78,0 36,8 66,0 3/8" BSPP 3/8" BSPP o @ DJ

XV-1P/1.7 1,010 79,5 37,5 67,5 3/8" BSPP 3/8" BSPP <

XV-1P/2.2 1,030 81,5 38,5 69,5 3/8" BSPP 3/8" BSPP

XV-1P/2.6 1,060 83,5 39,5 71,5 3/8" BSPP 3/8" BSPP \

XV-1P/3.2 1,090 85,5 40,5 73,5 3/8" BSPP 3/8" BSPP J

XV-1P/3.8 1,120 87,5 41,5 75,5 3/8" BSPP 3/8" BSPP 10,8

XV-1P/4.3 1,170 89,5 42,5 77,5 3/8" BSPP 3/8" BSPP TA

XV-1P/4.9 1,200 92,5 44,0 80,5 3/8" BSPP 3/8" BSPP

XV-1P/5.9 1,260 96,0 45,8 84,0 3/8" BSPP 3/8" BSPP

XV-1P/6.5 1,300 97,5 47,0 85,5 3/8" BSPP 3/8" BSPP

XV-1P/7.8 1,360 102,5 49,0 90,5 3/8" BSPP 3/8" BSPP o

XV-1P/9.8 1,500 1115 53,5 99,5 3/8" BSPP 3/8" BSPP o S

N
26/08/04 X1P253208BAf
T.1 =24.5+29.4 [Nm] - screw tightening torque M8
T.2 = 13.8 [Nm] - admissible shaft torque (N.B. When choosing a shaft, always check the admissible torque).
Vivoil Oleodinamica Vivolo s.r.l. - Sole Shareholder Company - via Leone Ginzburg 2-4 40054 Budrio (BO) Italy tel: +39 051 803689 fax: +39 051 800061
XP161 www.vivoil.com - english 30/06/2008



Table of variations

Standard German 232 "BH" FLANG_

Standard German 32 "BH" FLANGE Shaft Cover
Left rotation ‘ Right rotation Left rotation Right rotation
CFO001 - Milled shank SCFO01 - Splined
31 32 T.2=13.8 [Nm] c T.2=428 [le Q
m=0,75 Z=15 p
w 9 5358 <
s Qj 2
5 | 05
‘ ° 45
[ [ SCF03 - Splined
33 34 T.2 :_42.8 [le R B
m=0,75 Z=15 =
(-]
‘ 9 85
35 36 135 a c
© ® %
iy |
© ©)
‘ ouT
37 & 135 135 & | Gl 135 135 2 D
© [ g -]
© ©) F o ©) © P
— ] D)) ©
‘ IN ouT | out IN
Displacement Standard bodies N
TYPE CODE Displacementcm3/rev Standard threads
XV-1P/0.9 16 0.9 -1 |\B-B|J-J | B-Z2|Z2-2|G-F
XV-1P/1.2 17 1.2 -1 |B-B|J-J | B-Z2|Z2-2|G-F
XV-1P/1.7 18 1.7 -1 |B-B|J-J | B-Z2|Z2-2|G-F
XV-1P/2.2 20 2.2 I-1 |B-B|J-J|B-Z2|Z2-Z|G-F B
XV-1P/2.6 21 2.6 -1 |B-B|J-J | B-Z2|Z2-2|G-F o
XV-1P/3.2 23 3.2 -1 |\B-B|J-J | B-Z2|Z2-2|G-F
XV-1P/3.8 25 3.8 -1 |\B-B|J-J | B-Z2|Z2-2|G-F
XV-1P/4.3 27 4.3 -1 |\B-B|J-J | B-Z2|Z2-2|G-F
XV-1P/4.9 29 4.9 -1 |\B-B|J-J | B-Z2|Z2-2|G-F External drainage
XV-1P/5.9 31 5.9 -1 |B-B|J-J | B-Z2|Z2-2|G-F
XV-1P/6.5 32 6.5 -1 |B-B|J-J | B-Z2|Z2-2|G-F
XV-1P/7.8 34 7.8 -1 |B-B|J-J | B-Z2|Z2-2|G-F
XV-1P/9.8 36 9.8 -1 |B-B|J-J | B-Z2|Z2-2|G-F
Table showing standard flange and thread
combinations available in stock
Body (threads/flanges)
9186
1/4BSP 3/8 BSP - 1/2 BSP M14x1.5 - M181,5 18 UNF-2B 16 SSF_ZB
A B | c D ii E F G
o 5%0.8 o M6x1 o M6x1
. 5 W & B 5, Closed
H || ° J Z
T@# ¥ Body
26 P P30 30

Vivoil Oleodinamica Vivolo s.r.l. - Sole Shareholder Company - via Leone Ginzburg 2-4 40054 Budrio (BO) Italy tel: +39 051 803689 fax: +39 051 800061

XP161 www.vivoil.com - english 30/06/2008



unidirectional pump - series XV

"SAE AA" TYPE PUMP

850.8 FLANGE - PARALLEL SHAFT

IX|1|P|25|62|B|B|B|A|

Series X series XV
Group 1 group1
Category P unidirectional pump
Displacement 25 338
Flange 62  50.8 SAE AA right rotation
Shaft B Cl002 - Parallel 12.7 - key thk. 3.2 (SAE AA)
IN B inlet-3/8" GAS
Body
OUT| B  outlet-3/8" GAS
Cover A standard
XP168
Technical data table
TYPE Displacement Max. Pressure ;d) CODE (*}g
cm3/rev P1bar | P3bar Left rotation Right rotation
XV-1P/0.9 0,91 240 280 (X 1 P1661BBB A|X 1 P1662B BB A 8
XV-1P/1.2 1,17 250 290 (X 1P1761BBB A|X 1P1762BBB A
XV-1P/1.7 1,56 250 290 (X 1P1861BBB A|X 1P 1862BBB A
XV-1P/2.2 2,08 250 290 |[X 1 P2061BBB AJX 1P2062BBB A
XV-1P/2.6 2,60 250 300 |[X 1P2161BBB AJX 1P2162BBB A
XV-1P/3.2 3,12 250 300 |[X 1P2361BBB AJX 1P2362BBB A
XV-1P/3.8 3,64 250 300 |[X 1P2561BBB AJX 1P2562BBB A
XV-1P/4.3 4,16 250 300 X 1P2761BBB A|X 1P2762BBB A
XV-1P/4.9 4,94 250 300 (X 1P2961BBB A|X 1P2962BBB A
XV-1P/5.9 5,85 250 300 X 1P3161BBB A|X 1P3162BBB A 50,8 Sos0 T2
XV-1P/6.5 6,50 250 300 X 1P3261BBB A|X 1P3262BBB A o / ’
XV-1P/7.8 7,54 220 | 260 (X 1P3461BBB A|lX 1P3462BBB A D 127 ooms
XV-1P/9.8 9,88 190 230 X 1P3661BBB AJX 1P3662BBB A _[ ¥ o
P1) Max. working pressure - P3) Max. peak pressure MUY
For heavy-duty applications, it is recommended to check the admissible torque of the shaft @ T 111 <
Dimensions table @ L
TYPE Weight A B c D D o p
kg mm mm mm IN out < \jﬂ) DI
XV-1P/0.9 1,000 82,6 41,8 70,6 3/8" BSPP 3/8" BSPP 1
XV-1P/1.2 1,020 83,5 42,3 71,5 3/8" BSPP 3/8" BSPP
XV-1P/1.7 1,060 85,0 43,0 73,0 3/8" BSPP 3/8" BSPP
XV-1P/2.2 1,080 87,0 | 440 | 750 3/8" BSPP 3/8" BSPP 10,8 L
XV-1P/2.6 1,110 89,0 45,0 77,0 3/8" BSPP 3/8" BSPP T
XV-1P/3.2 1,140 91,0 46,0 79,0 3/8" BSPP 3/8" BSPP T
XV-1P/3.8 1,170 93,0 47,0 81,0 3/8" BSPP 3/8" BSPP K
XV-1P/4.3 1,220 95,0 48,0 83,0 3/8" BSPP 3/8" BSPP
XV-1P/4.9 1,250 98,0 49,5 86,0 3/8" BSPP 3/8" BSPP v o
XV-1P/5.9 1,310 101,5 51,3 89,5 3/8" BSPP 3/8" BSPP g 3 ;\
XV-1P/6.5 1,350 105,0 52,5 93,0 3/8" BSPP 3/8" BSPP - ®
XV-1P/7.8 1,410 108,0 54,5 96,0 3/8" BSPP 3/8" BSPP
XV-1P/9.8 1,550 117,0 59,0 105,0 3/8" BSPP 3/8" BSPP
1 104
63,2
26/08/04 X1P2552BBBA dft
T.1 =24.5+29.4 [Nm] - screw tightening torque M8
T.2 = 32.8 [Nm] - admissible shaft torque (N.B. When choosing a shaft, always check the admissible torque).
Vivoil Oleodinamica Vivolo s.r.l. - Sole Shareholder Company - via Leone Ginzburg 2-4 40054 Budrio (BO) Italy tel: +39 051 803689 fax: +39 051 800061
XP168 www.vivoil.com - english 30/06/2008






